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QUESTION ONE: CAUSES OF INFLATION

“Wealker oil prices - depending on what's happening with the New Zealand dollar -
tends to put downward pressure on inflation,” said a Westpac senior economist.

Source: The New Zealand Herqld, 8 Jarmary 2016, p. Bi4.

From 1 January 2016, the price of cigarettes will increase by 10 per cent, the fourth and
final scheduled annual increase. The Government has yet to announce whether it will

commit to further annual price increases but has said it wants to make the country
smoke-free by 2025,

Source: hﬁp://www.radionz.co.nz/news/national/293137/anti-smoking«advocate—calls—for-further—price~hikes,
29 December 2015,

]

(@)  Fully explain the different effects on the general price level measured by the Consumer Price

Index (CPI) of weaker oil prices and an increase in the price of cigarettes.
In your answer, explain:

. how weaker oil prices can result in a change in inflation
. why an increase in the price of cigarettes may not cause g change in inflation.
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(b)

(c)

3

(i)  On Graph One beiow, show the impact of weaker global oil prices.

Graph One: AD/AS model Graph Two: AD/AS model
of the New Zealand economy

of the New Zealand economy

Price level
Price level

- Real GDP

The ANZ Bank expects the New Zealand dollar to decrease in value by year’s end.
Source: The New Zealand Herald, 8 January 2016, p. B14.

(i) On Graph Two above, show the impact of the decrease in the vaiue of the New
Zealand dollar.

Use Graph One and Graph Two to compare and contrast the impact on inflation of a

decrease in the value of the New Zealand dollar with the impact of weaker global oil prices.
In your answer, fully explain:

. how the decrease in the value of the New Zealand dollar would affect inflation

why the decrease in the value of the New Zealand doliar may have an impact on
inflation that is different from the impact of weaker global oil prices.
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More space for this answer is available on the following page.
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QUESTION TWO: THE BUSINESS CYCLE AND DEFLATION
(@) On Graph Three below, clearly label an example of a recession. Label this point X.

_ Graph Three: The Business Cycle
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(b) ()  On Graph Four below, show the effect of a recession on either the AD or the AS curve.

Graph Four: AD/AS model of the New Zealand economy
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(i)  Use Graph Four to fully explain how a recession may lead to a period of deflation.
In your answer, include a definition of deflation.
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More space for this answer is available on the following page.
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A slowdown of growth in China

China is important to New Zealand as a trading partner. Australia and China are our
main frading partners, and China is Australia’s main trading partner. Therefore, any
downturn in China will impact directly or indirectly on demand for our exports,

Source {adapted): hitp://www.rbnz.govt.nz/research_and_publications/speeches/2015/6012526. 1l

The downturn in China is likely to have a smaller impact on price levels than a
recession in New Zealand.

{c) On Graph Five below, show the impact of a downturn in China on either the AD or the AS
curve.

Graph Five: AD_I_A__S model of the NewZealand economy

\__\
Price I‘é\el
.

-~

e T

Reai GDP

ASSES
UBEC

Frannmicre Q199272 204R




7

{d) Use Graphs Four and Five to fully expiain why a downturn in China is likely to have a smaller
impact on price levels than a recession in New Zealand.
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QUESTION THREE: THE IMPACTS OF DEFLATION

The rate of inflation in New Zealand has, in recent years, been at historically low levels
and has been falling. This is evidence of a period of disinflation. There is real concern
about the possibility of deflation and its potential effects on the economy.

Compare and contrast the different effects of a period of deflation on:

younger people saving to buy a first home AND older people in retirement who use their
savings as a source of interest income '

New Zealand businesses producing for the New Zealand market AND New Zealand
businesses producing for export.
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Achievement Exemplar for AS91222 (2016) Total Score 11

Question

Grade

Comrﬁ‘é'ﬁt‘ -

1

A4

This response demonstrates two clear points that contribute towards
Achievement. The candidate explains the inability of a single good to affect other
production and, hence, will nat create inflation. They also clearly demonstrate
understanding of the effect of a depreciation of the New Zealand dollar on
aggregate demand, using labels effectively. However, the response is not an M5, as
the use of the correct Economic terminology is not evident (e.g. exports receipts
are the component of Aggregate Demand not exports).

A3

This re;ponse meets the minimum requirement of an Achievement grade. The
candidate indicates the effect on aggregate demand from the downturn in China,
but Economic terminology is again incorrect. The response does not meet the
requirement for an A4, as the supporting evidence (changes to graphs and the
definition of deflation) is incorrect.

A4

This is an A4, as the candidate makes twauc:ié:;_éxplained points on the effects of
deflation. Thus, for first home buyers the candidate states an effect (e.g. save for
their first homes faster} and gives a reason (their current savings are worth more}.
However, it is not an M5, as a third point or an implication of the effect is not
discussed. It is an A4, as a second point for a different scenario is also stated and
explained (there is a link between lower costs and profits).




